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1. % %8 160m (AR K& (1B EE - AW A0RE EH M- ) —f K18 1
2. FFRL 160m% ( . . ) —i& £33
3. & #®H 160i% (A& #RER -Hf @ -EH A -EBE #BE ) —# 25.08 4 1:50.54
4 ® = 1207% ( . . . ) —h £
5. B & 120m% (X% &EE -dLiE FME -RE R MR Fx ) —f# 24.07 1 1:37.49
6. %% @ 120m% (FH B&% Bl mE SRR AN -Hs EA ) —#& 25.79 3 1:47.24
7. dtigiE 1205 (E# B=R C R £ CEE B CER OEAN ) —f 25.23 2 1:43.94
8. & W 120 (B ®BA - BORKE - INEFHERET -XKmr BfE ) —f& 21.22 5 1:52.08

9if —ikE EIE el
1. & A0 1205 (FBR BBX - &K R - EHE KA -HhE MBS ) —fi 27.69 6 1:45.77
2. @ W 120m% (HE  #® -1BE HE FHE #HN CHA W ) —f 21.82 7 1:47.30
3. B E 120m% k& REAt -EH RTE - FE OE SNF B ) —iR 25.12 3 1:31.91
4. F E 1208 (B8R =X -ER BE -/ F0s B FEt ) —fg 24.05 1 1:36.12 X&#H
5 = 120% (=% #HE LTI F N - FiE this -KH #£F&F ) —f% 25.42 2 1:37.06
6. 5 5 120m% (RikE A0 HE RE -RBR EH SRR BRSO ) —f% 25.75 4  1:40.87
1. F E 9% (RO &3 cfEER OKE ke —E =R R ) —fg 26.05 5 1:41.83
8. | #iB 195 (FwHE =E S I PN - KA /RE CERE OK— ) —fg 25.76 OP 1:47.53




No. 13 HB¥ 4x50m ZU—1L— 2 A LR
) L—iB
10#8 E—ikE & E el
. E & 1198% (K& a4 B EE S luA MR SR oK ) —f% 26.13 8 1:47.96
2. f@ W 195 (Fx =) C=F EN - HEX BER -EE KR ) —#& 25.42 7 1:45.41
&k B 119 A RFE fRiE R - KiE Ry CEW OB ) —f% 28.04 6 1:42.67
4 K % 195 (M B CEF OE - ZH R -RE ®E ) —#% 24.22 1 1:37.08 X&£5r
5. 5 5 198 (B KA R I <l R AR OB ) —f% 24.16 2 1:37.15 X&Hr
6. B % 9% (FEE = ‘R - - BN HE -EE AR ) —# 26.28 4  1:40.59
1. wEl 1195% (ax 18 CRE —IE o -BIIR E® ) —f% 24.48 3 1:37.40 X&#H
8. I #BA M9 W 8 Rt —R - B -HE AR ) —#& 24.85 5 1:42.01




